Sr.No Questio | Difficul Category, Question Mark
n Type ty Sub s
Category
1 Single Easy Core The unit digit of 212 js 1
Choice Mathematics A. 2
B. 4
C. 6
D. 8
2 Single Medium Core If n is a positive integer and a is any relatively prime to n, then 1
i i @in) —
Choice Mathematics A U=y (mod n)
aCI::'z b =
B 0 (mod n)
ﬂCI:n ) =
C. 2 (mod n)
D. None.
3 Single Easy Core How many different words can be made out of the letters of the 1
Choice Mathematics | word ALLAHABAD?
A. 41 /(9! 2D
B. 21/ (4'9)
C. 91/ (4!2))
D. (2! 4!) /9!
4 Single Hard Core The number of elements of order 10 in Z3o is 1
Choice Mathematics A 2
B. 3
C. 4
D. 5.
5 Single Easy Core For real numbers x and y we write x Ry if x-y is an irrational 1
Choice Mathematics | number. Then the relation R is
A. Reflexive
B. Transitive
C. Symmetric
D. None of these.
6 Single Medium Core The sequence {xn}, where 1
Choice Mathematics Lyt 41
Xn = ntl nt2 nt3 In
A. Increasing but not bounded
B. Increasing and bounded
C. Decreasing and bounded
D. Decreasing but not bounded.
7 Single Easy Core The function f(x) = x / (x> + 1) from R to R is 1
Choice Mathematics A. One One and Onto
B. Onto but Not One One
C. Neither One One nor Onto
D. One One but Not Onto
8 Single Medium Core The Series is 1
Choice Mathematics

n"2

3'n
A. Convergent
B. Unbounded

C. Divergent




D. None

Single
Choice

Easy

Core
Mathematics

The set of real numbers in [0,1] is
A. Countable Set
B. Uncountable Set
C. Finite Set
D. None.

10

Single
Choice

Medium

Core
Mathematics

In a class of 100 students, 55 students have passed in
Mathematics and 67 students have passed in Physics, then the
numbers of students who have passed in Physics only are?

A 22

B. 33

C. 10

D. 45

11

Single
Choice

Medium

Core
Mathematics

If f(z) = 1/(1-z) then the Re f(z) for z = 7 + 2i is
A. -3/20
B. -1/15
C. 1/20
D. 3/15

12

Single
Choice

Medium

Core
Mathematics

If 1, w, w? are the cube root of unity, then the roots of (x-1)° +
8 =0are

A -1,-1,-1

B. -1, 14+2w, 1+2w?

C. 1,w, 2w

D. -1, 1-2w, 1-2w?2

13

Single
Choice

Easy

Core
Mathematics

The Cauchy Riemann equations in polar form are
A _ 1w ou_ v
90 roaor’ or a0
5 B L8 om0
96 ror’ae = or
c H_1» n_

or  rae’ ao ar
o, B o o
T or 80’80 ar

14

Single
Choice

Medium

Core
Mathematics

By the stereographic projection with south pole at origin (0,0,0)
the point (1,0,0) goes to the complex number
A Z=1
B. Z=i
C. Z=-+i
D. Z=1+i
sinz

15

Single
Choice

Medium

Core
Mathematics

The poles of the function f(z) = -, are at
A. (Zn-;-l)n

, nis any integer
B. Z”T” , his any integer
C. nm

D. None

16

Single
Choice

Medium

Core
Mathematics

T is non-singular iff
Nullity(T) # 0
Nullity(T) = 0
Nullity(T) = Rank(T)
Rank(T) =0

sEeX- B2




17 Single Medium Core A linear transformation E on V is a projection on some subspace
Choice Mathematics | iff
AL E2=0
B. E2=1
C. E2=E
D. None
18 Single Hard Core Consider the basis {us, uz, us} of R3, where u1 = (1,0,0), u2 =
Choice Mathematics | (1,1,0) and us = (1,1,1). Let {f, f, f3} be the dual basis of {us,
uz2, u3} and f be a linear functional defined by f(a,b,c) =a + b +
¢, (a,bc)eR3 Iff =aifi + axf + a3 f3, then (a1, a2, a3) is
A. (1,2,3)
B. (2,3,1)
C. 321
D. (1,3,2)
19 Single Hard Core The number of generators in group ({1,2,3,4,5,6}, X7 ) are
Choice Mathematics A 4
B. 2
C. 5
D. 3
20 Single Medium Core If H and K are normal subgroups of G, then which one is true?
Choice Mathematics A. HKand H UK are normal in G
B. HKis not normal but H U K is normal
C. HKand H N Kare normalin G
D. HKis normal but H N K is not normal
21 Single Easy Core If G is a set of integers and a.b = a — b, then G is
Choice Mathematics A. Semi-Group
B. Quasi-Group
C. Monoid
D. Group
22 Single Medium Core If f = (2,3) and g = (4,5) be two permutation on five symbols
Choice Mathematics | 1,2,3,4,5, then df is
A (G335
12 3 45
S EEEY
' 1 3 5 2 4
23 Single Easy Core Which one of the following is the solution of differential equation
Choice Mathematics A. Cusp-locus
B. Tac-locus
C. Node-locus
D. Envelop
24 Single Easy Core What is the sum of order and degree of the given differential
Choice Mathematics . a3y  3[azy
equation \/d—: = \[d—;
A. 6
B. 5
C. 7
D. 9
25 Single Medium Core When solving (d?y / dx? ) + 4y = tan2x by variation of
Choice Mathematics | parameters, the value of the Wronskian W is

ocow>
A WNH-




S.No. |Question | Difficulty | Category, Question Marks
Type Sub Category
1. |Single Easy Logical 1,3,6,10,15,21,28, 1
Choice Reasoning
A. 35
B. 30
C. 36
D. 33
2. | Single Easy Logical 1,3,7,15,31, 63,127, 1
Choice Reasoning
A. 255
B. None
C. 254
D. 131
3. |[Single Easy Logical 0,1,1,2,3,5,8, 13, 21, 34, 1
Choice Reasonin
g A 56
B. 58
C. 60
D. 55
4. |Single Easy Logical B,C,D,F,G,H,J, 1
Choice Reasoning
A
B. M
C. K




Single Easy Logical A D, G,J,M,P,S,
Choice Reasoning
A |
B. M
C. L
D. V
Single Easy Logical A CF1J, ,U
Choice Reasoning
A P
B. O
C. Q
Single Easy Logical X, W,C,D,V,U,E,F,
Choice Reasoning
A. T
B. O
C. S
D. G
Single Easy Logical You are in a running race, and you overtake third
Choice Reasoning place. What place are you in?

A. Fourth
B. first
C. Second

D. Third




9. |Single Easy Logical Solve the following. Take 1000 and add 40. Now
Choice Reasoning add another 1000. Now add 30. Add another 1000
Now add 20. Now add another 1000. Now add 10.
What is the total?
A. 4300
B. 3100
C. 4100
D. 5000
10. | Single Easy Logical Some months have thirty days, some have thirty-
Choice Reasoning one. How many have thirty?
A. one
B. twelve
C. two
D. four
11. | Single Easy Logical Solve the following. Take 1000 and add 400. Now
Choice Reasoning add another 100. Now subtract 30. Add another
1000. Now subtract 20. Now add another 1000.
Now add 10. What is the total?
A. 1360
B. 3400
C. 3460
D. 3640
12. | Single Easy Logical Some months have thirty days, some have thirty-
Choice Reasoning one. How many have twenty-eight?

A. one
B. two
C. four

D. twelve




13.

Single
Choice

Easy

Logical
Reasoning

Spot the odd number out:-
A. 17
B. 9
C. 15
D. 18

14.

Single
Choice

Easy

Logical
Reasoning

Complete the series:- 3,9,81, ?
A. 729
B. 6561
C. 162
D. 90

15.

Single
Choice

Easy

Logical
Reasoning

In the given sequence what does X stand for?

236,266,293,317,X,356
A. 328
B. 318
C. 338

D. 348

16.

Single
Choice

Easy

Logical
Reasoning

One fourth of the sum of the prime numbers,

greater than 4 but less than 16, is the square of?

A 3
B. 4
C. 5
D. 2




17.

Single
Choice

Easy

Logical
Reasoning

If the mean(average) of 5 numbers is 5.4, what is
the total sum of these numbers?

A. 30
B. 27
C. 29
D. 25

18.

Single
Choice

Easy

Logical
Reasoning

Complete the series:- 87,81,75,69,63,?,51
A. 54
B. 60
C. 50

D. 57

19.

Single
Choice

Easy

Logical
Reasoning

If 3/16 of a tank is filled in 15 minutes, the rest of
tank can be filled in

A. 55min
B. 60min
C. 65min

D. 70min

20.

Single
Choice

Easy

Logical
Reasoning

Complete the series: - 2,7,14,23,?,47
A. 39
B. 44
C. 34

D. None of these




21.

Single
Choice

Easy

Logical
Reasoning

In a class of 60 students,24 students got grade A.
What percentage of students got grade A?

A. 60%
B. 65%
C. 40%

D. 24%

22,

Single
Choice

Easy

Logical
Reasoning

How much interest will Rs.9000 earn in eight
months at an annual rate of interest of 5%?

A. 330
B. 270
C. 300
D. 240

23.

Single
Choice

Easy

Logical
Reasoning

A car which cost Rs. 1,00,000 is discounted at 5%.
What is the discount?

A. None of these
B. 5000
C. 5500
D. 5200

24,

Single
Choice

Easy

Logical
Reasoning

A gas stove originally cost Rs.500 and was
discounted at 10% .After 2 months it was sold after
being discounted at 15%.What was the sale price?

A. 380.50

B. 381.50

C. None of these
D

. 382.50







S. No. Question | Difficulty Category, Question

Type Sub Category
1. Single Easy Basic English Which of the following is not a noun?
Choice A. correct
B. imagination
C. description
D. anger
2. Single Hard Basic English An article made by hand is called
Choice
A. manuscript
B. handicraft
C. handiwork
D. thesis
3. Single Medium Basic English Who sells the following — Garlands, Bouquet, Flowers
Choice
A. Garden
B. Plantist
C. Grocer
D. Florist
4. Single Hard Basic English The concert was until another day.
Choice Fill in the blank.
A. ignored
B. put off
C. put on
D. put delay
5. Single Hard Basic English Find the synonym of VIAL.
Choice A. A face mask
B. Useful

C. Small glass container
D. A virus



6. Single Easy Basic English Select antonym of the given word — SIGNIFICANT
Choice . Important

. Insignificant

. Bright

. Pertinent

oOwm>

7. Single Easy Basic English They to school every day.
Choice goes

arrive

. go
. reach

oow>

8. Single Hard Basic English Choose the correctly spelt word.
Choice A. floriscent
B. florescent
C. fluorisent
D. floricent

9. Single Medium Basic English Give the plural of — FUNGUS
Choice
A. fungus
B. funguses
C. fungi
D. fungee



10. Single Medium
Choice

11. Single Easy
Choice

12. Single Hard
Choice

13. Single Hard
Choice

Basic English

Basic English

Basic English

Basic English

BIANNUAL means

A. Happening every year

B. Happening every two years

C. Happening twice a year

D. Happing in two different countries

Synonym of - Liked by people

A. pessimist
B. popular
C. optimist
D. potable

Potable means something that:

A. Can be broken

B. That can be run on different machines
C. Breakable

D. Safe to drink

Meaning of VENDETTA is

A. Proposal
B. Feud

C. Revenge
D. Compromise



14. Single Hard Basic English Meaning of FICKLE is

Choice
A. An agricultural tool
B. Changing loyalty frequently
C. Certain
D. A bright light
15. Single Easy Basic English There is an exception every rule.
Choice
A. to
B. for
C. in
D. on
16. Single Easy Basic English Thehand ___ rocks the cradle, rules
Choice world.
A. will, follow
B. will, shall
C. that, the
D. which, whole
17. Single Hard Basic English Sit down and rest for a while.
Choice In this sentence, ‘while’ is used as:
A. verb
B. preposition
C. noun
D. conjunction



18. Single
Choice

19. Single
Choice

20. Single
Choice

21. Single
Choice

Hard

Hard

Medium

Easy

Basic English

Basic English

Basic English

Basic English

The then king rewarded him generously.

‘then’ in the above sentence means —

A
B
C.
D

afterwards

in the past

then reigning
incorrect usage of ‘then’

He was a just king.

The meaning of the phrase ‘just king’ in this sentence is

A
B.
C.
D

He hardly studied for the exam and he topped.

. king who was fair in his dealings

only a king
almost became a king
recently throne king

‘hardly’ in above sentence means:

A
B.
C.
D

This is

oSnwm>

With great difficulty
Worked very hard
Scarcely
Uninterestedly

piece of art.

very unique

a unique

an unique

the most unique



22, Single Hard Basic English This house is to
Choice
A. leave
B. living
C. go
D. let
23. Single Medium Basic English Suman finished her lunch and so .
Choice Select the verb phrase to complete the above sentence.
A. Talso
B. Idid
C. along with me
D. didI
24. Single Hard Basic English He does not believe in God. He is an
Choice
A. ascetic
B. analyst
C. believer
D. atheist
25. Single Easy Basic English The rules students from carrying mobile
Choice phones to exam centers.
A. exhibit
B. permit
C. prohibit
D. question
S. No. Question Difficulty Category, Question Marks
Type Sub
Category
1. Single Hard Subject IP address is a bit software 1
choice Specific address of a node in a network
A. 64 Bit
B. 128 Bit
C. 32 Bit




D. 28 Bit

Single
choice

Hard

Subject
Specific

FHSS stands for

A. Frequency Hopping Spread
Spectrum

B. Frequency Hopping Spread
Sequence

C. Frequent Hopping Spread
Spectrum

D. Frequent Hopping Spread
Sequence

Single
choice

Medium

Subject
Specific

URL stands for
A. Unified Resource Locator
B. Uniform Resource Locator
C. Unified Resource Location
D. Uniform Resource Location

Single
choice

Hard

Subject
Specific

ISO stands for

A. International Standard
Organizer

B. Internet Standard Organization

C. International Standard
Organization

D. International Special
Organization

Single
choice

Hard

Subject
Specific

Layer is a completely
__ partition of PDU
A. Logical
B. Physical
C. Conceptual
D. Virtual

Single
choice

Hard

Subject
Specific

is usually used in LAN network
A. Twisted Pair
B. Fiber Optics
C. Wireless Medium
D. Radio Wave

Single
choice

Hard

Subject
Specific

TCP/IP is a combination of two
protocols and for
reliable data transfer

TCP,UDP

TCP, FTP

UDP, IP

TCP,IP

OOw>

Single
choice

Easy

Subject
Specific

is the main goal of
networking
A. Saving Money
B. Resource Sharing
C. Program Sharing
D. Data Communication

Single
choice

Hard

Subject
Specific

The progressive weakening of a signal
as it travels over a cable or other
medium is

Alteration

Attenuation

Propagation

Data Transfer

COow>




10.

Single
choice

Hard

Subject
Specific

works at application layer.
A. FTP
B. PO
C. PPP
D. Both POP and PP

11.

Single
choice

Hard

Subject
Specific

IP belongs to layer of OSI
model

A. Physical

B. Transport

C. Network

D. Presentation

12.

Single
choice

Hard

Subject
Specific

Ham radio is an example of
A. Line-of-sight propagation
B. Sky-wave propagation
C. Ground-wave propagation
D. None

13.

Single
choice

Medium

Subject
Specific

A type of signal interference caused by
signals with different frequency sharing
the same medium is called as

A. Propagation

B. Attenuation

C. Inter- modulation noise

D. Alternation

14.

Single
choice

Hard

Subject
Specific

Modem is used to convert data
into signal

A. Digital, analog

B. Analog, analog

C. Analog, digital

D. Digital, digital

15.

Single
choice

Hard

Subject
Specific

A type of signal interference caused by
signals transmitted on frequency
blending over into the other is called
as_

A. Cross Connection

B. Crosstalk

C. Inter- Modulation noise

D. Interference

16.

Single
choice

Hard

Subject
Specific

IIS stands for
A. International Information
Services
B. International Information Server
C. Internet Information Services
D. None

17.

Single
choice

Hard

Subject
Specific

Ethernet is a type of
A. Technology
B. Topology
C. Protocol
D. None

18.

Single
choice

Medium

Subject
Specific

Two-way simultaneous communication
is called as
A. Half-duplex communication
B. Full-duplex communication
C. Simplex communication




D. None

19.

Single
choice

Medium

Subject
Specific

ISP stands for

Internet Service Provider
International Service Provider
Intranet Service Provider
None

OCOow>

20.

Single
choice

Hard

Subject
Specific

Piconet is a type of
A. Wireless Transmission
B. Bluetooth
C. Guided Transmission
D. Un-guided Transmission

21.

Single
choice

Medium

Subject
Specific

The memory address of the first element
of an array is called

A. Base Address

B. Floor Address

C. Foundation Address

D. First Address

22.

Single
choice

Hard

Subject
Specific

Which of the following is not the
required condition for binary search
algorithm?

A. There must be mechanism to
delete and/or insert elements
in list

B. The list must be sorted

C. there should be the direct access
to the middle element in any
sublist

D. None of the Above

23.

Single
choice

Easy

Subject
Specific

A variable P is called pointer if

A. P contains the address of an
element in DATA.

B. P points to the address of first
element in DATA

C. P can store only memory
addresses

D. P contain the DATA and the
address of DATA

24,

Single
choice

Easy

Subject
Specific

Which of the following data structure
can't store the non-homogeneous data
elements?

A. Records

B. Pointers

C. Arrays

D. None

25.

Single
choice

Hard

Subject
Specific

Binary search algorithm can not be
applied to

Sorted linked list

Sorted binary tree

Sorted linear array

Pointer Array

oOwp




